%?jj? NO.8—1 Rotation in z-axis

1. z #lZ B3 % [EER AT OIRAED

ThdLE, ROBZERDIRI,

(a) (z1 %]z 1) =

(b) [{& 1 [Dzlz 1)|* =

(©) (&l |Dala ) =

() [{& | [Dzlz 1) =

(€) [z 1 (Dalz D>+ [z | [Dalz 1)|? =

K4




2. KEDEE, ROMFHEZ KDL T\,

(a) (02) = (@ Tloslz 1) =1 — (0a)r = (v 1 [D]02Dsla 1)

(b) (oy) =(xTloylz 1) =0— (oy)r = (2T @iay%ﬂx )

() {oz) = (z 1ol 1) =0 — (02)r = (@ 1D]0.Dslz 1)

(d) (02)* +{oy)* + (02)* = 1 — (02)% + (o)} + (02)F =

3. SHO#ETONR /I8 - bbbzl - BRREEZES LIV, (HHRLEK)



%?jj? NO.8—2 Rotation in z-axis

1. z #lZ B3 % [EER AT OIRAED

ThdLE, ROBZERDIRI,

(@) (yT|Daly 1) =

(b) 1{y 11Zaly 1)I* =

(©) (i |Dly 1) =

(d) [y 4 1Zaly DI* =

() [y 1 [Daly D + 1y L [Daly DI =

K4




2. KEDEE, ROMFHEZ KDL T\,

(@) (e) =W Tlozly ) =0—(o)r=(y T |@;Tco'x@x|y T

(b) {oy) =y Tloyly 1) =1 — {oy)r = (y T DloyDaly 1)

(C) <02> = <y ) |0-z‘y T> =0— <Uz>R = <y 0 |@;0’z@m|y T>

m &)
|

(d) <‘7w>2 + <Uy>2 + <UZ>2 =1— <Ucc>%?, + <Uy>?% + (0% =



%?jj? NO.8—3 Rotation in z-axis

1. z #lZ B3 % [EER AT OIRAED

ThdLE, ROBZERDIRI,

(a) (11%[ 1) =

(b) (112 1)I* =

(€) (412 1) =

(d) (42| D)I* =

(&) (T 12a] DI+ 1 12| DI =

K4




2. KEDEE, ROMFHEZ KDL T\,

(a) (02) = (Toa] 1) =0 — (oo)r = (1 [D]02Da| 1)

(b) (oy) =(Tloy| 1) =0—(oy)r = (T @lgy@m‘ 1)

() (o) = (To=| 1) =1— (02)r = (1|DL0:Da] 1)

(d) (02)* +{oy)* + {02)* = 1 — (02) ] + (0y)% + (02)
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